oot wane ANUSHKA ACADEMY
REASONING QUIZ

1. In a row of students. Mohan is the 13th from the left end. Suman
is 12th from Right end and 18th from left end. How many students
of Mohan'’s right?

(a) 30

(b) 15

(c) 16

(d) Can't be determined

2. In a class of 40 students Sachin is 15th from the top Sidharth is
12th from the bottom. How many boys are in between Sachin and
Siddhartha?

(a) 15

(b) 13

(c) 12

(d) 16

3. A is 10th from left and B is 15th from Right. When A and B
exchange their position then A becomes 15th from the left. What is
the new position of B from Right?

(a) 18

(b) 20

(c) 19

(d) Can't be determined
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4. In a class of students Rita is 15th from the left and Sonu is 18th

from the right. When they exchange their position, Then Rita
becomes 19th from right. What is the new position of Sonu from
left?

(a) 22

(b) 21

(c) 23

(d) Can't be determined

5. In a row of girls, if Sujata is 10th from the left and Namrata is
9th from the right, interchange their positions, Sujata become 23rd
from the left. How many girls are there in the row?

(a) 32

(b) 31

(c) 30

(d) 34

6. In a row of boys if A is 20th from the left and B is 16th from the
right, interchange their position, them A becomes 30th from left.
How many boys are there in the row ?

(a) 46

(b) 44

(c) 45

(d) 48
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7. Suresh is 27th from left and Ramesh is 27th from right. If total

49 people in row, how many people between Suresh and Ramesh ?
(a) 4
(b) 5
(c) 3
(d) 6

8. Rohit is 17th from left end of a row of 29 boys, Karan is 17th
from the right end in the same row. How many boys are there
between them in the row ?

(a) 3

(b) 5

(c) 6

(d) None of these

9. In a row, Rita is 15th from left and Madhu is 18th from right. If
there are 4 girls between Madhu and Rita, then how many numbers
of total girl in a row minimum ?

(a) 26

(b) 27

(c) 28

(d) 25
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10. In a class Deepak is 29th from top and Rana is 18th from

bottom. If there are 6 boys between Deepak and Rana. Then how
many students in class minimum ?

(a) 37

(b) 38

(c) 39

(d) 36

11. In a row of boys, Srinath is 7th from the left and Venkat is 12th
from the right. If they interchange their positions. Srinath becomes
22th from the left. How many boys are there in the row ?

(a) 19

(b) 31

(c) 33

(d) 34

12. Sudheesh ranks seventh from the top and 28th from the bottom.
How many students are there in the class ?

(a) 34

(b) 35

(c) 28

(d) 21
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13. Raju ranks 10th from the top and Ravi ranks 21st from the

bottom. If there are 3 students between them, how many students
are there in the class ?

(a) 34

(b) 33

(c) 31

(d) 32

14. If you are 9th person in queue starting from one end and 11th
from another end, what is the number of persons in the queue ?

(a) 20

(b) 19

(c) 21

(d) 18

15. Arun ranks 17th in a class of 31 students. What is his ranks
from the last ?

(a) 14

(b) 15

(c) 16

(d) 17
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16. In a row of 16 boys, when Prakash was shifted by two places

towards the left, he become 7th from the left end. What was his
earlier position from the right end of the row ?

(a) 7th

(b) 8th

(c) Sth

(d) 10th

17. In a classroom, there are 5 rows, and 5 children A,B,C,D and E
are seated one behind the other in 5 separate rows as follows.

A is sitting behind C, but in from of B.

C is sitting behind E, but D is sitting in front of E.

The order in which they are sitting from the first row to the last is .
(a) DECAB

(b) BACED

(c) ACBDE

(d) ABEDC

18. A, B, C, D, and E are 5 schools facing forwards north. A is in the
middle of E and B. E is to the right of D. If C and D are at two ends.
Which school is on the left side of C?

(a) E

(b) A

(c)D

(d)B
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19. B is twice as old as A but twice younger than F. C is half the age

of A but is twice older than D. Who is the second oldest ?
(a) B
(b) F
()b
(d)C

20. In a row of trees, A is 7th from left end and 14th from the right
end. How many trees are there in the row ?

(a) 18

(b) 19

(c) 20

(d) 21

ANSWERS
1 (c)
2 (b)
3 (b)
4 (d)
5 (b)
6 (c)
7 (c)
8 (a)
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9 (b)

10 (¢)
11 (c)
12 (a)
13 (a)
14 (b)
15 (b)
16 (b)
17 (a)
18 (d)
19 (a)
20 (c)
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